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1. 1. Find the odd one out : 
A)  Grams        B) Litres    
C)  Tonnes            D) Quintals 

B 1

A. 2. Find the odd one out : 
A) 25631              B) 52163 
C) 33442               D) 34424 

C 1

3. A, B, C, D and E are sitting on a bench. A is sitting next to B, C is sitting next to D, D is not
sitting with E who is on the left end of the bench. C is on the second position from the right.
A is to the right of B and E. A and C are sitting together. In which position A is sitting ? 
A) Between B & D    B) Between B & C 
C) Between E & D     D) Between C & E 

B 1

4. In the following questions various terms of alphabet series are given with one or more
missing showing with (?) Choose the missing term out of the alternatives.   
 AZ, GT, MN,??, YB 
A) KF       B) RX 
C) SH       D)TS 

C 1

5. Find the statement that must be true according to the given information. Vincent has a paper
route. Each morning, he delivers 37 newspapers to customers in his neighborhood. It takes
Vincent 50 minutes to deliver all the papers. If Vincent is sick or has other plans, his friend
Thomas, who lives on the same street, will sometimes deliver the papers for him 
A) Vincent and Thomas live in the same neighborhood 
B) It takes Thomas more than 50 minutes to deliver the papers. 
C) It is dark outside when Vincent begins his deliveries. 
D) Thomas would like to have his own paper route 

A 1

6. Find the statement that must be true according to the given information. Tim's commute
never bothered him because there were always seats available on the train and he was able to
spend his 40 minutes comfortably reading the newspaper or catching up on paperwork. Ever
since the train schedule changed, the train has been extremely crowded, and by the time the
doors open at his station, there isn't a seat to be found 
A) Tim would be better off taking the bus to work. 
B) Tim's commute is less comfortable since the train schedule changed 
C) Many commuters will complain about the new train schedule  
D) Tim will likely look for a new job closer to home 

B 1

7. Based on the first two statements, the third statement may be true, false, or uncertain. Chose 
the correct one. 
The temperature on Monday was lower than on Tuesday. 
The temperature on Wednesday was lower than on Tuesday. 
The temperature on Monday was higher than on Wednesday 
If the first two statements are true, the third statement is 
A) True    B) False  
C) uncertain     D) None of these 

C 1
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8. Based on the first two statements, the third statement may be true, false, or uncertain. Chose 
the correct one. 
 A fruit basket contains more apples than lemons. 
 There are more lemons in the basket than there are oranges. 
 The basket contains more apples than oranges. 
 If the first two statements are true, the third statement is 
 
A) True  
B) False  
C) uncertain 
D) None of above 

A 1

9. In the following questions various terms of alphabet series are given with one or more 
missing showing with (??) Choose the missing term out of the alternatives.   
AZ, CX, FU,  ??        
A) IR     B) IV 
C) JQ     D) KP 

C 1

10. 4. Find out the right letters for the question marks: 
A M B N E I F J C O D P G K  ? ? 
A) M N    B) L M  
C) I E      D) G H 

C 1

 


